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A successful research requirements :

(A) Planning
(B) Guidance
C) Expert

D) All of the above

Which is the design of sampling?

(A) Probability selection

(B) Purposive methods

€ Mixed sample

D) All of the above

Survey research methods come under :
(A) Pre-empirical methods

(B) Descriptive research methods
) Experimental research methods
D) All of the above

The logic of induction is very much related
with :

(A) The logic of sampling

(B) The logic of controlled variable
) The logic of observation

D) None of the above

The aim of research is :

(A) Descriptive in nature
(B) Founded in human values
€ Cause-effect relatedness

(D) All of the above

The aims of research is / are :
(A) Verification

(B)
C) Theoretical development
D) All of the above
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10.

1.

12.

The reporting of research findings should 7.
be done :

(A) by the scientist themselves

(B) in a scientific and effective way

(®) through internet

D) through scientific journals

Reliability of a research result implies 8.

its :

(A) Verifiability

B) Validity

(@) Uniqueness

D) Usefulness

A research is 9

A serious and investigative study

Based on standardised conclusions

(A)
(B) Being illuminated
©)
(D) All of the above

The word “Research” means : 10.
(A) To know
(B) To get

(®) To move
(D) To innovate

Which of the following is / are types of field  11.

studies?

(A) Exploratory testing
(B) Hypothesis testing
(®) Both (A) and (B)
D) None of the above

Survey research studies : 12.
(A) Events

(B) Populations

(®) Processes

(D) Circumstances
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13. Evaluation research is concerned with :
(A) What are we doing?
(B) Why we are doing?
(®) How well are we doing?
D) None of the above
14. Action research is a type of :
(A) Applied research
(B) Quality research
(®) Working research
D) Survey research
15. A hypothesis is a :
(A) Tentative statement whose validity
is still to be tested
(B) Supposition which is based on the
past experience
(®) Statement of fact
D) All of the above
16. What do you mean by synopsis of a
research project?
(A) The blue print of research
(B) Extracts from the research
observations
(®) A plan of the research
D) Summary of the findings of the
research
17. Can a problem be stated?
(A) By putting forward a question
(B) Making a statement which is
declarative in nature
© Both (A) and (B)
D) None of the above
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18. A null hypothesis is :
(A) Hypothesis of no difference
(B) Hypothesis that assigns value of
zero to the variable
(®) Hypothesis of zero significance
D) None of the above
19. The preparation of a synopsis is :
(A) An art
(B) A science
€ Both (A) and (B)
(D) All of the above
20. The advantage of sampling is :
(A) Time-saving
(B) Capital-saving
(®) Increased accuracy
(D) Both (A) and (B)
21. The method of Randomization involves :
(A) Lottery
(B) Coin method
(9] Tippit's table of random digits
D) All of the above
22. Type-1 Error occurs, when :
(A) The null hypothesis is rejected even
when it is true
(B) The null hypothesis is accepted
even when it is false
€ Both (A) and (B)
D) None of the above
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23. What is / are the base(s) of formulation of a
hypothesis?
(A) Reflection
(B) Deduction
(®) Observation
(D) All of the above
24. Which of the following is not the characteristic
of research?
(A) Based research
(B) Holistic perspective
(®) Context sensitivity
(D) Ex-post facto research
25. Which of the following is a step of research
design?
(A) Defining the problem and
formulating a hypothesis
(B) Collecting data
(9] Drawing inferences from the data
(D) All of the above
26. Which of the following is a type of
hypothesis?
(A) Interrogative hypothesis
(B) Declarative hypothesis
(9] Directional hypothesis
D) All of the above
27. A research is based on :
(A) ldeas of the scientists
(B) Experiments
(®) Scientific method
D) Same general principles
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28.

29.

30.

31.

32.

The scientific study of the historical  28.

background of the events to determine its
bearing on the present condition is called :

A Philosophical research

(A)

(B) Action research

(®) Experimental research

D) Historical research

The data of research is, generally : 29.
(A) Qualitative only

(B) Quantitative only

© Both (A) and (B)

D) None of the above

Longitudinal approach of research deals  30.

with :

(A) Short-term researches
(B)

(®) Horizontal researches
(D) None of the above

Long-term researches

Which of these is not a step in the problem  31.

identification process?
(A) Discussion with subject experts
(B) Review of existing literature

(®) Theoretical foundation and model

building
(D) Management decision making
Mean, median and mode are : 32.
A Measures of deviation

o oo

(A)

(B) Ways of sampling

(9] Measures of central tendency
(D)

D None of the above
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33. Research is :
(A) Searching again and again
(B) Finding solution to any problem
) Working in a scientific way to search
for truth of way problem
D) None of the above
34. A common test in research demand much
priority on :
(A) Reliability
(B) Usability
C) Objectivity
D) All of the above
35. Classification of all types of libraries has
been made by :
(A) IFLA
(B) UNISIST
(@) UNESCO
D) INSDOC
36. Reading centre’s story hours, exhibitions
and reading to literature are forms of :
(A) Extension service
(B) Service of a public library
©) Both (A) and (B)
D) None of the above
37. Informal self-education is possible in what
kind of library?
(A) National library
(B) Public library
€ Specific library
D) College library
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38. __is aprocess of information. 38.
(A) Books
(B)  CD-ROM
(®) Computers
D) None of the above
39. Information is : 39.
(A) Raw data
(B) Processed data
(®) Input data
D) Organized data
40. Conference proceedings are considered as  40.
___ documents.
(A) conventional
(B) primary
(9] secondary
(D) tertiary
41. An appropriate source to find out descriptive ~ 41.
information is :
(A) Bibliography
(B) Directory
(®) Encyclopedia
(D) Dictionary
42. The Farmington Plan is associated with : 42.
(A) Library legislation
(B) Library cataloguing
(@) Library cooperation
D) Library indexing service
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43. UNESCO assisted model public library in
India is located at :
(A) Kolkata
(B) Delhi
(@) Mumbai
D) Chennai
44, Questionnaire is a :
(A) Research method
(B) Measurement technique
(®) Tools for data collection
D) Data analysis technique
45, “Controlled Group” is a term used in :
(A) Survey research
(B) Historical research
© Experimental research
D) Descriptive research
46. Which of the following is not a Graphic
representation?
(A) Pie chart
(B) Bar chart
© Table
D) Histogram
47. SPSS is an acronym of the following :
(A) Statistical Predications for Social
Sciences
(B) Sexual Preferences for the Sixties
and Seventies
(®) Statistical Package for the Social
Sciences
D) Sexual Performance and SAD
Syndrome
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48. Final stage in the research process is : 48.
(A) Problem Formulation
(B) Data Collection
(®) Data Analysis
(D) Report Writing
49. A comprehensive full report of the research 49,
process is called :
(A) Thesis
(B) Summary Report
(®) Abstract
(D) Article
50. The first page of research report is : 50.
(A) Appendix
(B) Bibliography
(®) Index
D) Title Page
51. The Chi-square test is : 51.
(A) A mean
(B) A multi-questions tests
(®) A statistical mistake
(D) A statistic
52.  ANOVAis: 52.
(A) A government body which collect
social statistics
(B) The name of a statistical software
package
(9] A one-way analysis of variance
(D) A two-way analysis of variance
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53. Which of the following is not one of the seven
major parts to the research report?
(A) Results
(B) Abstract
(®) Method
(D) Footnotes
54. What type of chart is useful for comparing
values over categories?
(A) Pie chart
(B) Column chart
(®) Line chart
(D) Dot graph
95. A feature that displays only the data in
column(s) according to specified criteria?
(A) Formula
(B) Sorting
(@) Filtering
D) Pivot
96. What type of chart is useful for showing
trends or changes over time?
A) Pie Chart
(B) Column Chart
(®) Line Chart
D) Dot Graph
of. What technique is generally followed when
the population is finite?
(A) Systematic sampling technique
(B) Purposive sampling technique
(9] Area sampling technique
D) None of the above
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58. Which one is called non-probability
sampling?
(A) Quota sampling
(B) Cluster sampling
(®) Systematic sampling
(D) Stratified random sampling
99. The ____ scale measurement has a natural
zero.
(A) Ratio
(B) Nominal
(®) Ordinal
(D) Interval
60. Cluster sampling, stratified sampling and
systematic sampling are types of :
(A) Direct sampling
(B) Indirect sampling
(@) Random sampling
D) Non-random sampling
61. The split-half method is used as a test of :
(A) Stability
(B) Internal reliability
(@) Inter-observer consistency
(D) External validity
62. Scale in which the respondent directly
compares two or more objects and makes
choices among them is :
(A) Ranking scale
(B) Rating scale
(®) Graphic scale
D) None of the above
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63. The degree of freedom for paired t-test
based on n pairs of observations is :
(A 2n-1
B) n-2
©  2(1)
(D) n-1
64. Which test is the part of the parametric
test?
(A) Sign test
(B) Run test for randomness
(®) Kruskal-Wallis test
D) Z-test
65. Identifying causes of a problem and
possible solution to a problem is :
(A) Field study
(B) Diagnostic study
(@) Action study
(D) Pilot study
66. Second step in problem formulation is :
(A) Statement of the problem
(B) Understanding the nature of the
problem
(®) Survey
D) Discussion
67. Questionnaire is filled by :
(A) Respondent
(B) Every body
(®) Enumerator
D) None of the above
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68. The main problem in questionnaire is :
(A) Accessible to diverse respondent
(B) Greater anonymity
(9] Shows an inability of respondent to
provide information
(D) None of the above
69. An image perception or concept that is
capable of measurement is called :
(A) Scale
(B) Hypothesis
(€  Type
(D) Variable
70. How to judge the depth of any research?
(A) By research title
(B) By research duration
(®) By research objective
D) By total expenditure on research
71. What do you mean by unit of analysis?
(A) Main Parameter
(B) Variables
(®) Sample
D) Constructs
72. One of the method for determining mode
is :
(A) Mode = 2 median — 3 mean
(B) Mode = 3 median — 2 mean
(@) Mode = 2 mean — 3 median
D) Mode = 3 mean — 2 median
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73. Mode is : 73.
(A) Middle most frequent value
(B) Least frequent value
(9] Maximum frequent value
(D) None of the above
74. The algebraic sum of the deviations of a  74.
frequency distribution from its mean is
always :
(A) Greater than zero
(B) Less than zero
(®) Zero
D) A non-zero number
75. Which of the following can not be determined ~ 75.
graphically?
(A) Mean
(B) Median
(®) Mode
D) None of the above
76. Mode and mean of a data are 12K and 15K.  76.
Median of the data is :
(A) 12K
(B) 14K
€ 15K
(D) 16K
7. Cumulative frequency curve is also called :  77.
(A) Histogram
(B) Ogive
(®) Bar graph
(D) Median
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78. The wickets taken by a bowler in 10 cricket ~ 78.
matches are 2, 6, 4,5, 0, 3, 1, 3, 2, 3. The
mode of the data is :
A 1
B) 2
C 3
O 4
79. The mode and mean is given by 7 and 8,  79.
respectively, then the median is :
(A) 113
(B) 13/3
C) 233
O) 33
80. The marks obtained by 9 students in statistics ~ 80.
are 59, 46, 30, 23, 27, 44, 52, 40 and 29.
The median of the data is :
(A) 30
B) 3%
Cc 29
(D) 40
81. What are the variables whose calculationis  81.
done according to the weight, height and
length known as?
(A) Flowchart variables
(B) Discrete variables
€ Continuous variables
D) Measuring variables
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82. Failing to reject the null hypothesis when it
is false is :
(A)  Alpha
(B) Type- | Error
(®) Beta
(D) Type-II Error
83. A parameter is :
(A) A sample characteristics
(B) A population characteristics
(®) Unknown
D) Normally distributed
84. The data which have already been collected
by someone are called :
(A) Raw data
(B) Array data
(9] Secondary data
D) Fictitious data
85. The grouped data is also called :
(A) Raw data
(B) Primary data
(@) Secondary data
(D) Qualitative data
86. The number of accidents in a city during 2022
is
(A) Discrete variables
(B) Continuous variables
(9] Qualitative variables
D) Constant
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87. A specific characteristic of a population is  87.
called :
(A) Statistic
(B) Variable
(®) Parameter
D) Sample
88. The first hand and unorganized form of data ~ 88.
is called :
(A) Secondary data
(B) Organized data
(®) Primary data
(D) None of the above
89. A mean of a distribution is 23, the medianis ~ 89.
24, and the mode is 25.5. It is most likely
that this distribution is :
(A) Positively skewed
(B) Symmetrical
(®) Asymptotic
D) Negatively skewed
90. Which one of the following measurement  90.
does not divide a set of observations into
equal parts?
(A) Quartiles
(B) Standard Deviation
(®) Percentiles
(D) Median
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91. Which branch of statistics deals with the g1,

techniques that are used to organize,
summarize and present the data?
(A) Advanced statistics
(B) Descriptive statistics
(@) Probability statistics
(D) Inferential statistics

92. If any value in a series is zero, then we  92.
cannot compute the :
(A) Mean
(B) Median
(®) Mode
D) Geometric mean

93. The algebraic sum of deviations from mean ~ 93.
IS :

(A) Maximum
(B) Zero

(®) Minimum

(D) Undefined

94. Statistics is a numerical quantity, which is g4
calculated from :

(A) Population
(B) Sample

© Data

D) Observations

95. Which one is not the measure of dispersion? 95,
(A) The range
(B) 50th percentile
(9] Inter-quartile range
D) Variance
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96. The height of a student is 60 inches. This is
an example of :
(A) Qualitative data
(B) Categorical data
(®) Continuous data
D) Discrete data
97. The data which have not undergone any
statistical treatments are :
(A) Primary data
(B) Secondary data
(®) Discrete data
(D) Continuous data
98. Data in the population census report is :
(A) Grouped data
(B) Ungrouped data
(®) Secondary data
D) Primary data
99. The mean is affected by the change of :
(A) Origin
(B) Scale
(®) Both origin and scale
(D) Unis
100. A measures of dispersion is always :
(A) Zero
(B) Positive
(®) Negative
(D) Infinity
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.
8. There will be no negative marking.
9. Rough work, if any, should be done on

the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.
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